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1.To comply with security requirements, an administrator with a vCenter Server Appliance needs to force
logoff of the vSphere web client after 10 minutes of inactivity.

What should the administrator do to meet the requirement?

A.Edit: /var/lib/vmware/vsphere-client/webclient.properties, modify session.timeout=10

B. Edit: /opt/vmware/vsphere-client/webclient.properties, modify session.timeout=600

C. Edit: /var/lib/vmware/vsphere-client/webclient.properties, modify session.timeout=600

D. Edit: /opt/vmware/vsphere-client/webclient.properties, modify session.timeout=10

Answer: A

2.An administrator needs to create a two-node virtual machine cluster in a vSphere environment that uses
a Fibre Channel SAN. The clustering software does not have a SCSI target or a SCSI command
pass-through requirement.

Which VMware storage type should the administrator use?

A.Physical RDM

B. VMFS

C. Virtual RDM

D. NFS

Answer: B

3.During the installation of ESXi 5.5, the following error message is reported:
Hardware Virtualization is NOT a feature of the CPU, or is NOT enabled in the BIOS.
Which condition would generate this message?

A.LAHF/SAHF is NOT enabled in the BIOS.

B. NX/XD is NOT enabled in the BIOS.

C. SSE3 is NOT enabled in the BIOS.

D. Hyperthreading is NOT enabled in the BIOS.

Answer: A

4.During a physical network reconfiguration, an ESXi host briefly lost connection to the management
network. High Availability (HA) began powering off the virtual machines residing on the affected host to be
restarted on an unaffected host in the cluster.

Which setting should the administrator configure to prevent this type of HA failover during planned
maintenance?

A.Host isolation response

B. Host monitoring

C. VM monitoring

D. Admission control

Answer: B

5.An administrator has configured multi-pathing using an FC array in an active-active configuration.
What is the expected behavior of the host when a failed preferred path becomes available using the Fixed
path selection policy for this array type?

A.It automatically reverts to the preferred path.

B. It continues using the current path until it is manually reverted.
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C. It resumes load balancing across all available paths.
D. It reverts to the preferred path after the host has been restored and rebooted.
Answer: A

3/3



